Mathematics 271 Test Number one

(20 pts) 1. If A=i+2j—2kand B =2i+j—k find
a) Ao B
b) A x B
c¢) The area of the triangle generated by A and B.
d) The length of the projection of B onto A.
e) Vectors El _:Emd 52 such that B = 51 + Eg, ﬁl is parallel to fl'l and B} is perpen-
dicular to A.

(20 pts) 2. Which of the following sequences converge? Why? What is the limit?
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(20 pts) 3. Which of the following series converge? Why?
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(20 pts) 4. a) For what value of x does the series Z (- —on converge? Where does it
n=0
converge absolutely.
b) Find Taylor Series in powers of (x— %) for f(z) = cosz, f(x) = sinz, and f(r) = .
o0 o0
(15 pts) 5. a) Carefully state the Limit Comparison Test for the two series Z an and Z b,.

n=1 . n=1
b) Prove that the McLaurin Series for e converges for all .
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c) If f(z) = Z cxx® for |z| < p prove cp = T
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